1/5

OF

O m [©&

N° de lot/
Batch number

FERRURE ETAIINOX/ S-S STAY ATTACHMENT

- DIMENSIONS -

Feuille / Sheet
1/5

SPARCRAFT"™

Performance Englneering

— s | — H s |
Dimensions [Ferrure étai cable Ferrure étai Ferrure étai
ferrure étai / a8/ cable @10/ cable @12/

Stay attachment| Stay attachement |Stay attachement|Stay attachement
dimensions wire @8 wire @10 wire @12
A 189 230 275
B
169,5 205 246,3
c 23,7 30,5 36,8
D 25 30 36
oF 25 30 36
G 57 73 92
H 28 36,5 49,4
! 10 12,5 14,6
J 20,3 24,5 29
K 18 30 32
L 10 15 15
oM 13 16,2 19,4
Revision Piece N°/ Part N Format / Size
- A4 !! Rue Blaise-Pascal.
Z.1. de Périgny

17185 PERIGNY Cedex.
France

Tel. +33 (0)5 46 45 90 45
Fax. +33 (0)5 46 45 36 59

a d'autres fabrications.

[Auteur 7 Author
J.Chollet

Etude N° / Study N°
14062010JCO01

Date

15/06/2011

permission of Sparcraft is prohibited.

PROPRIETE ET CONFIDENTIALITE
Ce plan est la propriété intellectuelle de RDM SPARCRAFT. Il ne
peut étre divulgué a des tiers sans notre autorisation écrite, ni servir

PROPRIETARY AND CONFIDENTIAL
The information contained in this drawing is the sole property of
Sparcraft. Any reproduction in part or as a whole without the written




2/5

44

12

——|

12

o

325

AN

[ #asee )

Pt

Ay

N° de lot/
Batch number

] N

114

|
| M
|
= V
A
A
: o

56,50

Revision

Piece N°/ Part N

Format / Size

A4

-Dimensions-

FERRURE ETAI CABLE @14/ STAY ATTACHMENT @14 WIRE

Feuille / Sheet
2/5

I
SPARCRAFT"™

Performance Englneering

Rue Blaise-Pascal.

Z.1. de Périgny

17185 PERIGNY Cedex.
France

Tel. +33 (0)5 46 45 90 45
Fax. +33 (0)5 46 45 36 59

[Auteur 7 Author
T.Rhoéne

Etude N° / Study N°
09122013TR01

Date

09/12/13

PROPRIETE ET CONFIDENTIALITE
Ce plan est la propriété intellectuelle de RDM SPARCRAFT. Il ne
peut étre divulgué a des tiers sans notre autorisation écrite, ni servir

a d'autres fabrications.

PROPRIETARY AND CONFIDENTIAL
The information contained in this drawing is the sole property of
Sparcraft. Any reproduction in part or as a whole without the written

permission of Sparcraft is prohibited.




3/5

D
N

X

i 2 XRH

" ~ | 2XRG
QO @
Ve \ | tosaemn REF

— A A N = A

+0,50
®F 0 (Rond anti-matage)
| - / anfi-upsetting round)

N |~ 2Xx @ J

Les trous de fixation doivent étre suffisament grands

et bien posiﬁonnés pour que la partie basse de la

ferrure etai vienne en appui sur le rond anti-matage

avant les corps des vis /

The fixing holes must be big enough and well located

so that the lower part of the stay attachment is set

in position on the anti-upsetting round before the body screws

Dimensions (mm) A B [ D E OF RG RH RI aJ K M N P
Ferrure étai cable @8/ | oo | 4 67 | 2185 | 1005 25 10,5 10,5 5 6,5 121 2 16.6 7.8
Stay attachment wire &8
Ferrure étai cable @10/
Stay attachment wire 210 205 52,8 10,7 28,75 126,7 30 13 13 6,5 6,5 15,5 2 20,75 9,5
Ferrure étai cable @12/
Stay attachment wire @12 246,3 65,8 10,5 31,9 149 36 15 15 8 8,5 18 3 24 11
Revision Piece N°/ Part N Format / Size
Rue Blaise-Pascal.
- A4 !! Z.1. de Périgny
- 17185 PERIGNY Cedex.
Feuille / Sheet | France
FERRURE ETAI INOX /S-S STAY ATTACHMENT| 3,5 | SPARCRAFT™ 15"% 05405004
Performance Englineering Fax‘ +33 (0)54645 36 59
PROPRIETE ET CONFIDENTIALITE
- DECOUPE / CUT - Ce plan est la propriété intellectuelle de RDM SPARCRAFT. Il ne
peut étre divulgué a des tiers sans notre autorisation écrite, ni servir
a d'autres fabrications.
[Auteur 7 Author
J.Chollet PROPRIETARY AND CONFIDENTIAL
- > The information contained in this drawing is the sole property of
Etude N°/ Study N Date Sparcraft. Any reproduction in part or as a whole without the written
14062011JC03 14/06/2011 permission of Sparcraft is prohibited.




4/5

24,50

—

_]4

168

50,5

197

27

14

21

53

23

JAN

2 Sens de percage des trous,
vérifier avec la ferrure/
correct drilling way, check
with stay attachment

Revision Piece N°/ Part N

Format / Size

A4

- DECOUPE/ CUT -

Feuille / Sheet

FERRURE ETAI CABLE @14/ S-S STAY ATTACHMENT @14 WIRE 4/5

I Rue Blaise-Pascal.
Z.l. de Périgny

17185 PERIGNY Cedex.

sPARCRAFIT " "I:'real.n(i-eSS (0)5 46 45 90 45
a g9

Performance Engineerin Fax. +33 (0)5 46 45 36 59

[Auteur 7 Author
T.Rhoéne

Etude N° 7 Study N° Date
09122013TR02

09/12/13

PROPRIETE ET CONFIDENTIALITE
Ce plan est la propriété intellectuelle de RDM SPARCRAFT. Il ne
peut étre divulgué a des tiers sans notre autorisation écrite, ni servir
a d'autres fabrications.

PROPRIETARY AND CONFIDENTIAL
The information contained in this drawing is the sole property of
Sparcraft. Any reproduction in part or as a whole without the written
permission of Sparcraft is prohibited.




5/5

Mat /Mast

AN

~ U

~___-

Easy fitting from outside

Montage aisé de I'extérieur/

Fixation des vis avec Loctite
Screws secured with Loctite glue

Performance

Référence piéce / Part reference
Pour cible @8, | Pour cable @10, | Pour cible @12, | Pour cable @14,
N° e axe 12,7/ axe @159/ axe @19,1/ axe @22/
. Description . ) . .
article/Part For @8 wire, For @10 wire, For @12 wire, For @14 wire,
12,7 pin @15,9 pin @19,1 pin @22 pin
Ferrure etai compléte [ |\ 700085 31007050105 | 31007050125 | 31007050145
1+2 Complet stay attachment
Ferure étai Inox/ 31007050084 31007050104 | 31007050124 | 31007050144
1 S-S Stay attachment
Vis TBHC INOX A4 / Screws 2x M6 X186 2x M6 X 20 2x M8 X20 5x M10x30
2 TBHC (SS) A4 28604006016 28604006020 28604008020 28604010030
Revision Piece N°/ Part N Format / Size
- A4 !! e .
Feule TSheet ua| 17185 PERIGNY Cedex.
FERRURE ETAI INOX/ S-S STAY ATTACHMENT | s/5 | SPARCRAFT™ 5% 0505004

-INSTALLATION - NOMENCLATURE -

Engineerin

Fax. +33 (0)5 46 45 36 59

[Auteur 7 Author
J.Chollet

a

Etude N° / Study N°
14062011JC02

Date
14/06/2011

PROPRIETE ET CONFIDENTIALITE

d'autres fabrications.

Ce plan est la propriété intellectuelle de RDM SPARCRAFT. Il ne
peut étre divulgué a des tiers sans notre autorisation écrite, ni servir

PROPRIETARY AND CONFIDENTIAL

The information contained in this drawing is the sole property of
Sparcraft. Any reproduction in part or as a whole without the written
permission of Sparcraft is prohibited.




	Dimensions 
	Vue de mise en plan2
	Vue de mise en plan3

	Dimensions 2
	Vue de mise en plan20
	Vue de mise en plan21

	Découpe
	Vue de mise en plan9
	Vue de mise en plan10
	Vue de mise en plan13

	Découpe2
	Vue de mise en plan22

	Nomenclature
	Vue de mise en plan5
	Vue de mise en plan6
	Vue de détail A (1 : 5)
	Vue de mise en plan15
	Vue de mise en plan16
	Vue de mise en plan17
	Vue de détail C (1 : 10)
	Vue de détail D (1 : 6)


